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~ SECTION A
1. (a) Sl‘lP'Pos'e there are tvs;o c'onsurhers 'A'aﬁd B who

~ consume 2 goods X and Y in a pure exchange
“economy. Their ut111ty functions are U, =2X, Yy
~and Uy, = X Y,. respectively. If the 1111“2‘1

endowments of the two goods are [(X =2,Y," 10)
(X =8, Y, = 10)]

(1) Plot the initial endowment point i an
Edgeworth box. |

(“) Derlve the consumption contract CurVe and
plot it.

P -
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(iif) Find the competitive equilibrium allocation
and price ratio.

(iv) Verify if the competitive equilibrium
allocation is fair or not, | (9.5)

(b) A housmg developer wants to build houses on a
plece of Tand locafed next to an airport. However,
the noise pollution from the planes that land at the
airport reduces the value of houses and hence the
profits of the developer. If X denotes the number
of planes that fly per day and Y be the number of
houses the developer builds. The profif functions

of the airport and the developer are as follows :

n, = 56X — X
= 70Y - Y2 - XY

= (i) If no bargains can be struck b'etween the
airport and the developer and eaeh can
“decide its own level of activity, how many
plz‘mes, "(X-*‘) will fly to 'maximise the profits
of the airport? Find the maximum profits?

(i) Given that X* planes fly, how many houses
- will be built to max1m1se profits of-the
developer‘7 Find the maximum profits of

the house developer.

Deshbardnu,College Library, e
A "‘“‘Gli New Delhl 195 .7 P.T.O.
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o 1)7()qc
(i) S:H‘l . land planes at the airport becayg,
llegt

they impos® an extern
Find the optimum number of houses b

ality on the developer

and the profits
such a rule. .eonbandnu, Coliege ler
Kalkaji, New Delhi-19

(iv) Suppose there is no ban on planes landmg
at the airport. If a smgle firm buys the.

developer s land and the alrport how many

planes will be flown and houses built to

maximise joint profits? 9)
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a
( ) The output of commodities X and Y, as a function

2

of homog
mogeneous inputs (L and K) is expressed in

terms of the ¢ .
| | e following production functions*

X< ‘
zm Y= 41}/‘ K~/‘

E1ve %
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where L is labour-hourg and K is capital-hours

devoted 1n production of X and Y. Initial

endowment of labour and capital (in hundreds of

hours) are as follows:

(Lx =30, K, =50); (L, =50, K, =50)

(1) Find the equation of the prdduction contract

curve for the commodities X and Y,

(i) Find the market equilibrium allocation of L
- and K used in production of X and Y, and
~ the equilibrium price ratio (P/P).

(111) At the equlhbrlum level of productlon find

- the ratio K/L (factor intensity) used in the
productlon of X and Y.-

U TR R Ty

v‘z o -.~-'-\ 5 )

(f(/) It 1s glven ‘that the productlon possibility
frontler (PPF) corresponding to the
production contract curve derived in part

(i) above exhibits increasing rate of product
-transfdrmati-on ,(RPTx’y), ie., the PPF is
strictly concave to the origin. Identify the

“possible source of increasing RPT, |

242=12
Deshbandhy, Céliege Library (3““5*”'2 )
- Kalkaji, New Delhi-19

P.T.O.
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(b) Moral hazard and adverse selection are problem,
of imperfect information in insurance markets_
Distinguish between them with reference to the

problems faced by companies offering health
insurance policies. Also, in the same context,
suggest a way of mitigating the problem of (i)

moral hazard'and (11). adve’rsé selection. : (6.5)

( ) mﬁuw (L@IK)%WW%W%W&%

- X=2 LXKX Y= 4L k3P

"m . ’aré%sﬂTK XaﬂIY%wrzﬂ?fwﬁa
g9 - a%%nmaﬂwﬁﬁmﬁmaﬁaﬁ (%an—e?rtra‘r

%) @ W ¥ Deshbbndh ege LI

' Kaﬂﬁzji New B Balhi-10
(Ly=50, K x=50%  (Ly=50, Ky=50)
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(a)_An_ individual’s inverse demand function for
- Commodity X is.given by: P_= 10 - Q,, where the
Per unit market price P, captures his marginal
Willingness to pay for commodity X. Assume there

-8re 10 individuals with the same demand curve.

o

P.T.O.
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(i) Find and plot the market demand curve fo,

X if it is a private good.

(i) Find and plot the market demand curve for

X if it is a public good. If the marginal

- cost of providing the public good X is

Rs. 10, find the efficient quantity of public
good provided.

(iii) State the condition for Pareto efficient

allocation of"

- (a) two private'goods (X-and Y) between
~ two individuals (A.and B), and

(b) one public good (G) and .one pf.ivate

good (Y) 'betWeen A and B. Compare

the two conditions. . (2+4+3.5=9.5)

. (b) In a mazket two ‘types’. of sleeping mattresses
are sold" those of hlgh quallty (H) and those of
low quallty (L) Buyers with limited 1nformat10n

~on ‘quality are unable to identify one type from
another unless they -have purchased one and used
it ‘f0r some time. If quality was perfectly
identifiable, buyers would be willing to pay
Rs. 25,000 for an H type and Rs. 18,000 for an L

. ..;.;ualq'QI1U.CO|5ége Livia: )
Kalkal{, New Belhi-19
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type of mattress. In (he presence of asymmetric

information, buyers are \\ll“lll;_! Lo pay an average
'S of nmllmsso«. can also offer
product warranty, w

price. Manufacture

hich ig relatively cheaper for

the H type manuflacturers, Suppose offering

a product warranty entails ney Costs of Rg, 5 ,000

and Rs. 9,000 to H type and L type manufacturerg

Iespcctwuly The product warr

enhance’ quality

anty itself does not
of the mattrc;ss produced. It is
merely used as a signal of quality.

(1) Will offering a warranty scrve as an
effectlve 51gna1 for separating cqu111br1um

in the malket for mattresses’? Explam

| (ii) If the proportion of H- 'type mattresses in
| the market is n, (0<n <), what values

“‘ ~ of 77 achleve a poolmg equilibrium?

"shbanohu f’“éﬂme! " espy +i(9)
,\;A“\au. New Daihi- 2% '
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vector (4,10). Their utility functlons are U =X Y
U, = X,Y, and U, —(X)”2+Y

(i) Define a ‘fair’ allocation. Does the initia]
~endowment of A, B and C represent g

“fair’ allocation? Explain.

(i) Will peffectly competitive trading between

A, B and C result in a ‘fair’ allocation?

Explain.. - (4.5+2=6.5)

(b) A perfectly competitive market exists for wheat.

The _inverSe demand is P = 200 -Q Where Pis

the prlce of wheat and Q is the total quantity of

wheat. The private total cost for the unregulated

market is C = 50 + 80Q + 0.5Q2 The productlon

of wheat creates an externality where. the total
external cost is EC =-0.5Q2.

(@ Solve for the unregulated Competltlve

L9

BF erttag .optimal level of wheat.
" (if) Derive the Pigouvian tax (per unit of output

of wheat) 'that results 1n the social
opttmum _ (6)
| r)eshbandhu Cotlegc Libeacy,
naliall, New Delj- 1

equ111br1um of Wheat and the socially |




(¢) Suppose the Production POssibili

Ly curve ( PPC) for
commoditic

§ Xand v g given by 2X2 . y2 . 1900.

(1) I consumers always prefer consumption

bundles in which X = 3Y, what will be the

optimum production levels of X and Y9

(i) What commodity price ratio (P,/P)) will

result in the optimum level of production
of X and Y? (6)

(37) v e b sfermen w Rew % R 2 g X
S Y. W T AR ® A 3 =@ A, Bk C
WA g, A, TRAw ¥ o wdweh Jw (4,10) 2
ST SyEfer wd U, = X
U, = X)?+Y, &

a~ al

Y Ub = Xbe Sﬂf

(i) v ‘FogE’ JEeT ® mﬁﬁ‘éﬁl T A, B
w1 R TR 37w

(i) = A B 3k CH q W T ¥ e

R AR SR’ T e F
e Shbandhu,Colla‘.gfgLih:il;y_ |

L N Do
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SECTION B

DesnoandnU.COllege Library

Kalkaji, New Belhi-1 9

ing lobbying game between tWQ
Each firm may lobby the government in
hopes. of persuadilng‘it to make a decision that is

favourable to the firm. The two firms, F1 and F2,

firms.

independently and éimultanepusly decide Whéther'-
to lobby (L) or not M. Lobbying entails a cost of

15. Not lobbying costs nothing. If bOth firms lbbby
Oor neither

a'neutral'djecisio_n, which yields 10 to both firms.

If firm F2 lobbies and F1 does not 1obby, then the

government makes g decision that favours firm

4 ,Ez,ﬁ;;y;i‘e}}ding;,zrer_pd to. firm F1 and 30 to firm F2
% Finhally, if firm F1:16bbies and F2 does not, the

government makes decision in favour of FI which

vields x to firm F1 and zero to firm F2.

Assume
that x > 25 The normal form of this game is:
F2 ]
L . N
_ -5, -5 x—15, O
Fl 5 i3 10, 10

€) Determine the pure-strategy Nash
equilibrium of this game.

firm lobbies, then the gdvcrnrﬁent takes
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(i) Compute the mixed-strate ;
S 1e8Y Nagh
’ . cquilibrium of this game.

(iii) Given the mixed-strategy Nash cquilibriy
: . | n
computed in part (ii), what is the Pmbability
that the govcmmcnt makes a decnsmn that

favours firm F1?

(iv) As x rises, does the probability that the
government makes a decision favo,uring

firm F1 rise or fall? = ('1+6+2+1=10)'

(b) An.electric utility company provides electricity
to a small town. The demand for electricity is
p(q) =10-.0.1q, and the company’s costs are

C(q) = 1 + 0.5q. Deshbanrdnu.College Librafy
Kalkaji, New Delhi-{§.-—"

(i) Does the electric utility company exhibit

the prdpg:rtics to be a “natural monopoly”?

(ii) Find the unregulated monopolist’s profit- —

maximizing price, output,'and profit.

(iii) The government passes a law that requires
utility to practice Marginal Cost pricing (i-¢-
p =MC). What is the regulated monopolist’s
output and profit? ‘
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i\r “7 =

(iv) What is the lump-sum subsidy that the
regu v:
egulator must provide the electric utility

co i ici
mpany to practice MC pricing without

operating at a loss?

(v) Compute the consumer surplus from the

Pricing strategies in parts (ii) and (iii).

Deshbandill, 8fiage Librafy.  (1+3+2+142=9)

Xalkajl, New Delhi-12
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AT 2, S S WA 1 10 Wiawd o 21 Al wF F2-
S S FI o e e 2, 2 e v frl 3
3 wd F2 @ wE ¥ F, W Fl @ T4 3R W F2
N 30 YRGS 31 21 I ¥, AR B F1 & 3R F2
5 = 2 9 wER F1 @ wa ¥ foig ot 2 el
w4 Fl ﬁxsﬂzwﬁmﬁs‘r\mm-mam

P TLO.



3289

20

3w & 5 x> 25. T WA WA T Y

2
L N
= 5 5 x—15, 0
Fl1 0, 15 10, 10
Q) = Qe B YE- WA AW GG A e

(ii)

(i)

(iv)

= "b'éihbaiiﬁﬁc@ﬁ ege L1o
Kafkali, New Delhi-19
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Kalkap Now Belhi-19
6. (a) The bicycle market is populated by two firms, Atlas

cycles (A) and Hero cycles (H), facing total
demand p =14 — g, where p ’is the price and q
denotes total quantity On the costs side, firms
are perfectly symmetric, with TC, = 2q,,i = A, H.

(all monetary values are in thousands of rupees).

P.T.O.
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(i) Assume that firms simultaneously choose
their outputs. Compute the market
eqmllbrlum (prices, quantities and profng

of A and H). Deshbamdnu. COMQge Lj
Kefkali, New Delhi-19

(i) If A enters the market first, chooses itg

brary

output and in the next time period, H enterg
the market and chooses its output. Compute
the market equilibrium of this sequential
game (prices, quantities and profits of A

and H). . (5+5=10)

(b) Each of N people chooses whether or not to follow
the protocol of wearing masks washmg hands. and
maintaining social dlstancmg to avoid the spread
of a viral infection. Following the protocols costs
each a fixed amount (= c'? 0). The protocols are"
effective i-n‘:prote.c,ting p'ebple from the spread of
the viral infection if and'only if at least H people

follow them, where 2<H<N; if- the protocols |

-are not effective, each faces a hlgher risk of
catching the infection which’ gives each one a i
disutility (= d > ¢ > 0). Each person ranks &l

outcomes from best to worst as follows: (a) any
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outcome in which the protocols are effectjve and
she does not follow them; (b) any outcome in which
the protocol is effective and she also followed
them; (c) any outcome in which the protocols are
not effective and she did not follow them; (d) any

outcome in which the protocols are not effective

and she followed them.

Find the pure strategy Nash equilibrium of this
strategic game. Clearly explain how you establish

that a profile is a Nash equilibrium profile. (9)

(&) iR SR R W, Toww e (A) sk &R

wEfrd (H) 800 R 8, | MO p=14—q =

AT AT IS XET 2, Wl p e 2 sk q /A A=

TC,=2q,i=A, H. (ﬁﬁaﬁ@'mﬁ@ﬁ%ﬁ ‘

(i) m%%ﬁwwaﬁwmw
TR E1 TR dge (S, s AR - R
T & FAM) WA W

(i) af A T TR X W W D, NI

Deshbandn. CaNI8E8 LTS, |
Kaikaiji, New Dalhi-19_-" |
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Dcahoandpu ‘Gollege lerary‘
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79 RIS @@ B YL OAR AW FgeT w5 g
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Deshbandnu,College L ary
Kalkaji, New Belhi-1y

7. (a) A firm sells goods in two markets, market 1
and market 2. The inverse demand in market 1 is

p; = 200 — q,, and the inverse demand in market

21sp, =100 - 2q,. The marginal cost of production

is constant and equal to Rs. 40.

(1)

(i1)

(iii)

If the f1rm behaves as a price taker
(perfect competltlon) what would the
equilibrium prices and quantities be in each
market? What is the consumer, producer

and total surplus?

If the firm acts like a monopoly and
charges different prices in each market,
how much would it charge ‘in the two
markets? What is the consumer, producer

and total surplus now?

If the government does not let the
monopolist charge different prices, what
price will the monopolist charge? Find the

consumer, producer and total surplus.
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are the total surplus in parts (i), (ii)

(iv) Comp
(4+6+4+1=15)

and (iil).

(b) There me N people sitting in a room. Each one ig
1\l\cd to é,uess an integer between 1 and 100 ang
write it “confidentially on a paper. The average of
411 the numbers written on the paper is taken and
the person(s) Whoseguess is closest to 2/3 of the
average is/are the winner(s). Find the Nash
equilibrium action profile of this game. How will
your answer change if the winner(s) will be the
player(s) whose guess is closest to 2° tlmes the
mean of the guesses? : @

(%) TF v A T, TR 1 IR AR 2 F wE I

31 IWR 1 ¥ gehed AN pl=200—q1 2, 3R R
2 ¥ T AT p, = 100 - 2q, 1 TewR F oA
o R 2 R 40 TR @ W R

(i) ”ﬁﬁ@mm (qu‘fgﬁaﬁar)%@

a3 ﬁeshbandhu come Liv;
. "elkali, New Reini-id-
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(ii) uﬁwﬁmﬁwaﬂm‘qﬂﬁm‘éaﬂf
| W SR ¥ ST - AT e 6 Rl d Ry
ﬁwﬁﬁmmﬁ? Slaa'qﬁ[aﬁ[
IEE R HA JACRY | 27

(i) I} TWHER TORER Tl W - e o 78
Wﬁ%ﬁ"f?‘ﬁwﬁw{maﬁwmmm?
maﬁzwaﬁ:ﬁwmﬁﬁm

(iv) AN (i),:(ii)‘ 3 (iii) ¥ w AR B g

1 Deshbéndhu,Coellege Library
Kalkajl, New Belhi-19

() T R A N O A3 ¥ wE F 19K 100 B
o ol S T @ R e o o g
wwwﬁﬁum%ﬁaﬁ%m-wmél |
Ww»ﬁ@ﬁmﬂmﬁwmmm%
3R Fore afemr 1 SIge SiE & 2/3 H EH B
B}, 9% o B 21 5@ o @ Aw g e
ﬁmwwmlmwﬁmqﬁm
(Rreet) e Reremdy B vt SigA STA & WA
¥ 2 T D AT B? ‘
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8. (a) Conside
of length = 100 kilometres, W here consumerg a
re

uniformly d

r Hotelling’s model of a straight highy
Yay

istributed along the highway. Suppo
Se

(here arc only two Stores (S1, S2) that sell wate
&

cans on this highway. located at a distance of 3
kms and 65 kms from th
ach consumer has a transportation cost equal ¢

0

where d 1s the. distance travelled to the

e beginning of the hiﬁhway.

0.03d?,

nearest store.

Nalkall, N@W Beihi_ﬁg e
(i) Calculate the demand (as a function of

‘prices_ P, P,) for the two stores.

(ii) Assume that production costs are zero and
that the stores aim at maximising revenue‘

| from sale of water cans. If the two 'stores§
compete in prices, find the prices charged

at Nash equilibrium.

(iii) Suppose a new government feguiation
restricts the stores from charging different “
prices for water cans. Instead, the store |
owners are given a. chance to choose their :
,Iocations og the highway siinultaneously‘

If they choose the same location, they split l

the business evenly: Where will S, and S, .5
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locate at Nash equilibrium? Is the Nash
equilibrium location choice of S, and S,

socially optimum? Explain.

(iv) If a third store (S;) also decides to locate
on the same highway and the 3 store
owners choose their locations on the
highway simultaneously, find the Nash
¢quilibrium of this game.  (3+6+4+1=14)

(b) Suppose a shopping arcade has only 2 stores éclling
tablet PCs. One sells Lenovo tablet PCs at a

~ price = P, while the other sells iBall tablet PCs

- at a price = P,. Both tablets are prbduced at a
" marginal production costs of Rs. 10,000, For the
consumers, both tablet PCs are p.erfect substitutes.
Each store’s set of actions is the set of possible
prices P, (nonnegative numbers). The low-price

. seller gets. the entire market; if they chafge the .

same price, they split the‘marl:(ét.-;

() What is the Nash equilibrium of this price

game? Explain.

(i1) Suppdse both stores décide to incluc.le.one

more element in their set of actions :

Deshbandny E8Mlage Librai, . |
Kalkall, Now Balhi-18 P.T.0.
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p = 20,000 or Free:

i ¢.., charge price per tablet pe -
Rs. 20.000 and advertise that if the pProduct
is available cheaper at the other store, the
customer can have it for free. Find tpe

Nash equilibrium .of this game. Explain,

Deshbandnu,College Library (5)
Xalkaji, New Delhi-19 :
(1) 100 ﬁ?&ﬁﬁaaﬁﬁﬁmﬁ%mamm

e R, et ST R T @ W
3 FeRa R S 21 W AT B R A =R
(51, 52) ¥ T T w W R AR 2,
| o eI ¥ 30 TR SR 65 TR W QW
o 21 wes ISl N IRIET A 0.03d &
TR B T, Wdﬁmﬂ@?waﬁﬂéeﬁ%l

(i) amﬁ%ﬁvﬂm(ﬁﬁr P1, P2%W . 
W%mﬁ)ﬁmﬁl |

(ii) Wﬁ%wmm%ﬁﬁﬂm ;
qﬁ%%ﬁﬁﬁa&awﬁmm,}
%Iﬁﬁﬁmﬁmﬁ%a}%
%mem‘l@mﬁl
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(iii) wﬁm%wwﬂm&mmﬁ
W%%@%WW—W%%%
ﬂiﬁﬂ%l%ﬂﬁ}m,@?mﬁaﬁaﬁw?{m
mwmwﬁm%ﬁmm%l
uﬁ%wéwﬁ%,ﬁawaﬁw
w1 A R O 2 dgem g S
szaﬁ@aaﬁ?wsmﬂrszmﬁmw
M dFIfoieh §9 ¥ S5eEw 297 T

(iv) =R = T LR (S3) N I w8 w g
IR o v A E SR 3 R e v
'.E@W-mwﬂ:’%%}ﬁwﬁwwﬁw
ey . cBlge i

(%) W AR v T e ¥ Fede- 02 Ao
F 2 ®R ¥ g A dawe - PC A e — P,
W ST €, Walh Gl i daeie - PC A R
= P, R a1 1 A A T I 10,000 TR
6 ANl IqTE AR R fRar S 81 Ioiamst &
Rm, 3 e PC wd fiwew ¥ v R A
franatl 1 ¥ WA el @ A B Pi (W-FOTE

 P.T.O.
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awﬁwﬂa@%,aﬁﬁwaﬁﬁmﬁm.w
[ B

(0 Wﬁ@amﬁma@aw%?‘w.

(i) T AT B AR RR A B R e F g

aﬂ{aamﬁam%mﬁv‘mé%%

P = 20,000 ar & e

at, Wiy Cawe PC &t #ed = % 20,000-'331 |

‘ 2, ?ﬁm@'m#umm'mﬁlsﬁ
mw%wm%ﬁqaﬁtw@|

Debnbamdnu College lerary
Kalka;a New Bolhl 19

)1 o < AR R AT By 3, g

[ S— |
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wE @ g Few

! wm—wﬁﬁaﬁﬁmﬁvwﬁu‘fﬁawwm
S RCRICHCICCI

—

o i @ IR AR | v w @ R & & I

dfe |

Jaft T R EH 3 E |
Wm—wwwaﬁﬁtm%ﬁﬁs@wwﬁéﬁv,w
N IR AT AEAH T B B AT |

(a) (i) ‘Suppose there is a one- time increase in the
- productivity of research represented by an

(i)

increase in & where & represents the
productivity of research. Explain in the
context of the Romer model, what happens
to growth rate and level of technology over

time? (Explain with diagrams)

Consider the level of per capita income along

the balanced growth path given by the

following equation —
y¥(t) = (sK/n+gA+d)““'°‘ (1-Sp) Osp/8, L(t)

The notations have their usual meanings as
in the Romer model of endogenous growth.

_.anu.Colieye wmiwiany

~alkaji, New Delhi=19, "
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) ()

(i1)

(c) @

3

Find the value of s, that maximizes output
PCT worker along the balanced growth path
ie, y*(1) . What happens (o the cconomy when
it exceeds (he value ? (3.5+4)

In the context of the Solow model with no
technical change, what is the saving rate that
maximizes steady-state consumption per
worker? (Assume that consumption is equal
to output minus investment). What is the

marginal product of capital in this steady-

state? o~
Deshbandhu.C&Tege Library
Kealkaji, New ®elhi-19

Examine in the context of the Solow model

the short and long- run effects of a one-time
bermanent increase in the stock of labour.

Assume that g (growth of technology)=0 and
n (population growth rate) > 0, (4+3.5)

Assume that the marginal cost for a
monopolist is a constant i.e., c. The demand
curve is linear and has the form Q=a-pp
(where a, b are positive constants), Q, P have
their usual meanings and a-be > 0. Find the
profit maximizing equilibrium (both price and
quantity), level of profits and consumer

e P
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lus if the good were priced at marging)
surplus 5

L‘(\\‘t.

l ll v 1

are excludable - trade secret for Coca Cola,

music from a compact disc, a lighthouse that
cuides ships. Explain the role of the market
and the government in providing each of the

ooods in the previous question. (4.5+3)

(31) (i) e ooy TR STHEU Sl IUEehdl § Ush §R
# afg g2 B, W & ¥ df¢ s} <Ein v R
S8l ATAUE whl JdIeehdl Rl Ui e
g1 U A & de § wWee e & g =
Y faeE R IR WA & ©R F1 W B

27 (ol & A )
- aiwau.College L. . -,
Kalkaji, New Belhi-19

(i) Frfeifiae s gwr Ry T e e T
F WA A @ s S e ) RER e

YH(U) = (sy/n+g, +dyot-o (.5 L) 85,/8, L(t)

mﬁ%’“%wma}mﬂﬁmﬂ
MARIIIC - Y

e N

W

RS

= ‘*‘-»’*P%”“"‘v"“%\'ﬂ”‘w*“* '&:«wzwf-:.m
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S

SR 19 3 aQ\Rre <y aqfera e g @
W el e @) sfrr T B

SEINH Y*() | 7 A iR B st a5
B R

B R Tt R @ e et @ e
ﬁ,ﬁﬁaﬁ%—mwaﬁmwﬁ
Tl S, 27 (7= o foF @ua seeqe
Wﬁ%m%w%)um@v—mﬁﬁﬁ

HT AT .
T Deghbeadhu Eollcge |
Kalkall, New Balhi-1y

S e & wed F o @ e F v W)
i 3y D s ik SR T
ST B AT A B SR (R o) =
0 3R TT (FEE gfE w) >0

SRR S0 Do RS S S —
for 8 A @ W aw e R sk wEe W
Q=abP B (W&l a, b tmw Remis 3), Q,
P& U4 @A 38§ R abe> 0. wgew
w1 St A A T (R R A
) T WG TH B TR IR Iqeiem
amﬁquﬁwaﬁaﬁﬂﬁﬁﬂﬁmwaﬁl

PTO
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(i) F=fRe wwgst = aRER sl R-ghgy =
w0 A wiiga aﬁt‘lﬁﬂr%ﬁw%m%
g - aﬁaﬂﬁw%ﬁvww,wzﬁﬁw
e & «Ma, v aEceme W ey o
Ried e 21 e uwm ¥ yae TG
ST F A AR SR WHER N s o
SR FIL
Desnhoandnu,College Lza,.-ra/r_g
Kalkaji, New Belhl-19 -

5

2. (a) Explain why, following a monetary expansion, the

exchange rate always overshoots its new long-run

equilibrium value. (7.5)

(b) Under the extended asset market approach to
exchange rate determination, how does the
increased risk of foreign bonds impact the value
of the domestic currency relatiye to foreign
currency (the initial impact)? How would this

impact further affect the Expecteq Appreciation

(EA) of the foreign currency (assuming that the

expected exchange rate in the SPOt market remains

unchanged) and the Risk Premjy o (4+3.5)
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7

(¢) (i) ‘By running large deficits, the government

can attract funds from abroad, which can then
be used to stimulate private domestic
investment. However, such action would be
unwise, since the foreign countries are bound
to respond unkindly to this beggar-thy-

neighbour policy.” Is this true or false?

Comment. Tesnoandnu,College Library

Tt r\atkan ‘New Delhi-19

(i1) What do you mean by stabilizing and

destabilizing stabilization? (5+2.5)

(37) ww= f& =@, ditw fer & ., RAfvm = =@

(%)

(7)

I Y efeRTorR e Ao ¥ AR e Wl 2

fafor o3 femer & forg foeRe Ry aem gfeaiion
%m,ﬁ%ﬁmwwgw@ﬁqqﬁéﬁw
(R Y1) & EIHET TR T D AT Y DY Wi
m%?wwﬁ%ﬁﬂmaﬁaﬁ%m (FT) =
IR A WAl FON (T8 A §C B 2R a3
grfer faf < sraRafde w 2) ok e N ?

(i) ‘S% W1e BT IR, WHER R A o ayefa

¢ o &, fores I Bl et @)

T O
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Refa @ @ e @ sn v 8 wwiffyg
= e o A Al B, R [ Ay
= PR - - TR AR W Fdua A s
3 & fow e 1w U W™ Ul e
feoqott |

(i) Ry @ Rer ik SRR e & s

e 87 SN
Deshbandiu, C m‘i}laq(\ I ihrm\a
alleap, Now 1 yoidl=38,

3. (a) Consider an economy where:

The official budget deficit is 4% of GDP.
Debt to GDP ratio is 100%

The nominal interest rate is 10%

The inflation rate is 7%

(i) What is primary deficit/surplus ratio to
GDP?

(i) What is inflation - adjusted deficit/surplus
to GDP?




3458 9

(1) Suppose instead that output begins at its
natural level and output growth remains
constant at the normal rate of 2%. Will the
debt-to-GDP ratio go up or down over

time?

(iv) Explain cyclically adjusted deficit.

Deshbendhu‘Coﬂe\gé Library (2+2+2+1.5)
Kalkaii, New Delhi-19
(b) Explain how each of the following would affect

the demand for M1 and M2 :

(M1 represents currency and checkable deposits,
M2 represents M1 plus money market, market

accounts and short term time deposits)

(1) Banks reduce penalties on early withdrawal

from time deposits.

(i) The government forbids the use of money
market funds for check writing purposes.

(iii) The government legislates a tax on all ATM

transactions.

(iv) The government decides to impose a tax
on all transactions involving any short term
government securities  (1.5+2+2+2)

e e
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(c) “Wars ty
deficits”.

pically bring about large byg
Explain this statement, get

ax distortion as a cost of inflatj
10n

(i1) Explain t
(4+3.5)

(37) WQ@WWWﬁW:
SR Seic HIeT e WRE IIE F 4% 2

oo @ AT ST 100%

A S ) 10%
wemé w0 79 Déshbandhu EBNGGe Library
Kalkaji, New Balht-10 g

(i) W e See & forg e =/ st

agrmﬁam%

(i) TRy T} - Ehel TR IE A EEE
1T/ SR ?

(i) #= =Y &7 T8 Soa Icdre altrarw"f?ﬁf
W W TE AT 2 IR I gfE 2% N
T W R R ed 21w Ye-g-e
FIAT T D W FIR G A G !

¢

,'
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(iv) Wm%wﬁav@ﬁwaﬁl

(%) W%ﬁw%&qﬁﬁmwaﬂmzﬁw
Hﬁ‘%ﬁq‘ﬂlﬁaﬁm:

(Mlﬂmaﬁiﬁaﬁaﬁﬁu\mwwwﬁrﬁ@am

g, M2 M1 = 1t TR sraTE R wE o e
ﬁqﬁzmwﬁrﬁr&mm%)

(i) o wmfr s ¥ T P W™ < W )

# Deshbandnu, College Librory
Kalkaii, New Belhi-19

(i) R A& o & RE A T W 5w D
ITRT R A% TR 2

(i) WHER TN T AT W W w2

(iv) Wﬁﬁﬁmam‘fmﬁﬁﬁﬁf%
TR @ o W R W ol A 2

(@) (i). “zraam?ﬁ””‘%m“hﬁmg”
' aaaama%l ot
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(i) ety A T TR R
i

4. (a) () Distinguish between credit- driven bubb]e,
and optimistic expectations driven bUbbles,

(i) What are the various practices commerciy

banks use to solve asymmetric informatigy

problems? (3.5+4)

(b) (i) Distinguish between Friedman’s and Phelps’s

versions of the fooling model?

(i) What is a macroeconomic externality?
How do long-term agreements impose a
macroeconomic externality on the economy?
Deshbandhu.Cdflege Lihrary )

. Kalkaji, New Dalhi-19 e

(¢) (i) What are the common elements of the original

and the New Keynesian approaches?

T BT R TR

(i) Explain using the New Keynesian model
why small nominal rigidities have large

Mmacroeconomic effects. (2-5+5)
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(3 (i) R - qoiger 3R smamandt 30 4 aRd
TR D W AR B

(i) e o @ @ sw we @ fe

AR o fre AT werst =1 ST S
87

(@) (1) R s @ e ok e @ wER @
0 st w7

(i) w=fe e ammr o 27 o s@fd & S
TSI W A& 3 qEdar ha oS 2 7

@) (1) W@ IR FRE gfesin & amrg T =

®? Dashbanrdhu, Czife eUbrﬁr*'
Kalkaji, New Daihi-19 :

(i) = HFRGT Hisd N IR A §Y € FY
%@ﬁwﬁmwmm
anﬁfmmﬂaaﬁrz‘m%l

5. (a) (i) ‘We see convergence among some sets of
countries but a lack of convergence among
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(b)

(c)

(i)

(1)

(1)

(iif)

(1)

14

(he countrics as a whole” Show wit the hey
1¢

of a diagram how the nco classicy| gro Y

. . Wik

model explains this phenomena, wi, '

\ at ()thcr
predictions does this model make?

Does this prediction of the neoclassical mode|
explain the differences in growth rategs acrosg

the countries of the world? Discuss.

(4.5+3)

What are the determinants of expected

profitability of investment?

Explain the relationship between social
infrastructure and each of the following-
investment share of GDP, average years of

SChOO]lng' R L R e R --uf

nalkaji, New Belhl-19.—
What are the determinants of social
infrastructure? (3+3+1.3)

If the positive interest rate differential it
favour of a foreign monetary centre iS 4%
per year and the foreign currency if -8t 2
forward discount of 2% per year, roughly ho¥
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(37)

15

much would an interest arbitrageur earn from
the purchase of foreign three-month treasury

bills if she covered the foreign exchange risk?

(ii) Write a short note on ‘Crawling Peg System’.

(i)

(i)

(4+3.5)

T A ® HH W D A AR W B
AfeT R W A R & FA U IRE
el A feE & 7@ -wifteq fwm Aea 5@
T S IR DY AT 2| T8 AUSA M FEAl
HiqwrarfEt e 27

1 Ha - vfaftsd died 9t 78 wiasaEmt gfar &

o faem w® A SiaX o AR St 87 <=

w1 Deshbamdﬁu.‘fiﬁigmg?ﬂjhr%‘.:.‘;
walkaji, New Baill-19 5

ﬁ%maﬁﬁaaww%ﬁuﬁww%‘?

qfore gaET e 3R Fefied ¥ ¥ wew
& q9 G H A W - TR W I
1 Faw e, et fer & shew T

& P.T.O:
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22, =T = WX B, A A IR WX T =ret
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= 2= faa | ¥ Tt Saa JEEt 3= aakaw =y
=Faw feear 27

‘e Q3T s’ 97 W= Gfera ot foikaw
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